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Hall Tieket Numbery
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g Ph] J Signature of the Invigilator

INSTRUCTIONS TO THE CANDIDATE (025308 $7$3e2)
(Read the Following instructions carefully before Answering)
(eTeoen FP00T Swodh B SrEses ST H08D0BSTW)

1. Separate Optical Mark Reader (OMR) Answer Sheet is supplied to the candidate along with Question Paper
Booklet. Please read and follow the instructions on the OMR Answer Sheet for marking the correct response.

eFhoR BTddo WEBLS o wRES 5h), 6486 (LJoub) 2o Hido vobodudod. wggiied
I aﬁa Sxod Ldoud agws Si8on ﬁr;"ﬂ Arddes pigm 4850058,
2. The Candidate should cnsure that the Hall Ticket Number and Name of the Candidate are properly

printed on the OMR Answer Sheet provided to you. The Candidates are further instructed to ensure
that the booklet code printed on OMR Answer Sheet is same as the Question Paper Booklet

code supplied to you.

®5gd LIoub 2endiBoD $ronods ([(HBTos FEEES Soud Hdin 4,8 HBm (2ol wonds T
@ DOErE O, wPpd S8% alyd Lddowd aTrw SE0 6 SuBodd wETE EE, nd)d ETRE0
28 S0@0o0S 250 6 288 woid I8 JDErREIST. .

3. This booklet contains 200 Questions and candidates shall answer all these in 180 minutes.
& pabido efBEE 200 HHen eramon oo eTizhe DaRoi3s 180 ArOS” BiTwIed GroodST.
4. One mark will be awarded for every correct answer. There are no negative marks.

2D (B8 2w uf Iy Yironoddo adibdod. Jndod Hrrd)f Srtyer 9. b
5. Immediately on opening the Question Paper Booklet by tearing off the paper seal, please check

for (i) The same booklet code (A/B/C/D) on ecach page, (ii) Serial Number of the questions
(1-200), (iii) The number of pages and (iv) Correct Printing. In casc of any defect, please report to
the invigilator and ask for replacement of booklet with same code within five minutes from the

commencement of the test.
WESD PHEe wEBE WdH DEARI Bokd ege supgom (i) S5 Berowods w53 6

/015716 B8 8D 696 36 56800HTIBS, (ii) 1 b 200 365 FHeo 3BD FHod 49D
400 HebOomr ST, (i) Do Sopy Hoaks (iv) B8 Sngn, B DEF) Dddrod’ JZT Sdye O3
Sde viighes 3 DOgHENN Sl 520538 D88 S0ogS 5 AToS* PTBER) Sr&nFIoH.

6. Answers to the questions must be entered only on OMR Answer Sheet by completely shading the appropriate

circle with Ball Point Pen (Blue or Black) only.
heo 3o Seod erddranols ENT LIoub aswmbigod FOm <85 B JnBaR 2l FooSSBR.
7. The OMR Answer Sheet will be invalidated if the circle is shaded using Pencil or if more than one circle is

shaded against cach question even with a small dot.
£,J006 2w HBoD Hdod BYSE LT B 28 SyEsnd’ £ oS Homod' OF) B, VYT
S Qb ©wd Saregosas SbnSodndd.
8, Change of answer is NOT Allowed.
2resds O HORGBOT Srdnbth wddodotudd.
The Candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropriate circle of (1), (2), (3) or (4) in the OMR Answer Sheet with Blue/Black Ball Point Pen, as

it 1s not possible to change or erase once darkened.
e £0 £ J026 naat@on F0oDS 2o DEbGe SEEh sl wiiiien Lgom s& ol 2w
Beo B Susd arddrenetd DEYE (1),(2), (3) B (4) Symod* o 3yo0) dnEed S 0oNIBR.
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#  Usecof [?rascr or White Fluid on the OMR Answer Sheet is
1s machine gradable and it may lead to wrong evaluation.
Surergosso oo Brdom Dot Hed Laosl »
TEL e T, i

9. The OMR Answer Sheet will not be valued if the candidate:

=0 £ - 3 oy W

[:ﬁa"’w:?lzji f'i_::‘ _.TT“?EQ %ﬁi BIOS LELHD B3 awde zaodido Sorergosio Dohudd:
for the purp:.;sr_-, ieket iNumber on any part of the OMR Answer Sheet except in the space pravided
£:20088 2o Moy AvePi g

X, S B 902 SrDodS PEos! £ SEURE Joubi 3 GBS’ I, @HIBH,

(5)  Writes any irrelevant matter includine reliei : e &

5 e : uding religious symbols, words, prayers or any communication what
O ever in any pant of the OMR Answer Sheet,

LJ0u6 2mw Hidon BEBEII DTfeo, 2 -
__ Y 0, Hen, Hle, | ;
@hﬁgmﬁq. 420, BT, i, |Z g S8 28 edonodds dirardo
(c) Adopis any other malpractice.
A EEVHTCTS SoEB 3580 Fenddd.

10. Electronic qugﬂ; like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log Tables
are not permitted nto the examination hall.

ROE TGS HnBols JogIE S00BS BIT DS, bab, SOSFBLE, JogIE Thes, KSSIE
wfen edhddodaay. s

I1. Rough work should be done only in the space provided in the Question Paper Booklet.
BTBE0 2EDSS* TranodS PdYes* Sr@d 83 56, BwE'3DH.

12. Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end
of the examination.
eFg8 B 05 Trens's HBIo0S dod 365 HHvabo Sohh 555 LoHLK HodaE.

13. Ensurc that the Invigilator puts his/her signature in the space provided on Question Paper Booklet and the
OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.
el 635 PMDGo 2EBED TLranods (HETos! SEIEHN GwE), SodSo GRFHIDN. eerd Ldowsd
2aedidon Liigh $Lranods Pades’ 43 Jodte DB, .

14. The candidate should write the Question Paper Booklet code and its serial number and sign in the space
provided in the Nominal Rolls.
FHS ' SyD JPT0DIS (HOFoS” wgh Wwn@o 205845 56 Mobcin Tl ES Jopgiy dOyWR0M
FOHIDH 605N APFoDS BBT0s’ Hodko DebSBM. o |

15. Return the OMR Answer Sheet to the invigilator before leaving the Examination Hall. Failure to return the OMR
Answer Sheet is liable for criminal action and the result will be kept withheld. The Question Paper Booklet shall

be taken away by the candidate and should be preserved 1ill the declaration of resulis.
s Sew oD sobhbth IVSH M LIoud 2TDE HE5DE8R8 wolRoDSBH. LIoub aTdgo

-

: 2 ' 0 S5 bty 836 Do DenSdodudd
wolBcHNT e 5085 Sdgw BfoEsdo 26d0b _, "
{;:T'i Q). waigh i-% PamSgsoid &8 ol S0503¢50nSH Hddin T Jodod H8% Pb@o
Bt . . ik b
25855 8 3¢ rigm HELENE ST

igul 1scs | ions i tion, then the text/matter stated in English |
~ . ambieuity arises in translations mn any guestion, Xt/m; stated
R H:g?gn shall be}rtrealed as final, since the Question Paper Booklet is printed in two languages

viz. English / Telugu or English / Urdu. i )
QBT BH sHhorood ehnd 408, aaﬁa:‘i‘ 'i:zﬁ}‘:}l E%ﬂﬂunﬁm HBSIOM 2 DoBID0.

Jodi:€ed PHTddo 3s Bodd raed® (aoha/deood Bor 20h/ & dr) SoBodzasa.
wad -
This booklet consists of 48 Pages including Cover Page and Pages of Rough Work.
& Samdgo wETE €585 Koboke 69 36, DEod LOD 48 Ldw 5O aH 0.
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Time : 3 Hours Marks : 200
Instructions -

(1)  One mark will be awarded for every correct answer. There are no negative marks.
W05 P8 2w wf Srdy $rowoddo 2hibhdod. Jtndod DHrd¥ Srinw TE.

(ii) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with Blue/Black Ball Point Pen the corresponding digit (1), (2), (3)
or (4) in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately provided to you.

8BS S B8 PHKD aSWAS T3S HOS JSFFIZNH INYFD A Jordod
©o3 (1), (2), (3) B (4) 3o add OMR Jsres JHFSNS" PHH Sowododd
Jopgho 5@ deo B Jend S Jowods DY) GHETHD JoBSB.

(l,/' Rearrange the given phrases into a meaningful sentence.
reading books is a habit / but also enlarges the mind / because it not only increases
(1) @) (3)
knowledge / which must be cultivated by everybody

4)
The correct order is

(1) 1,234 @ 1432 @ 410% ) 1,2, 4,3

~27 Choose the correct order of the following jumbled sentence from the options.
expresses a command / an imperative sentence / a sentence that / or an entreaty /

(1) (2) (3) (4)
is called

(5)

The correct order is
(1) 3,5, 4, 1,72 {gj 3.1, 4. 5.2 13 53523, % 48 4.3 2.5
: hoose the correct form of the verb from the options and fill in the blank.
If we enough money, we could buy a villa in a posh locality.
(1) havebeen (2) has
(%) had (4) were
4~ Choose the option with correct punctuation.
The squirrels nuts were hidden in several hollow trees throughout the forest.
(1) The squirrels nuts were hidden in several hollow trees’ throughout the forest.
(2) The squirrels nuts were hidden in several hollow tree’s throughout the forest.
(3) The squirrels’ nuts were hidden in several hollow trees throughout the forest.
(4) The squirrels nut’s were hidden in several hollow trees throughout the forest.

R
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;..r [dentify the clause in the given sentence.
The hand that rocks the cradle rules the world.
(1) Nounclause (2) Adjective clause
(3) Prepositional clause (4) Adverbial clause

A7 Fillin the blank with the appropriate option.
learning is a dangerous thing.
(1) Aless (2) Little (3) Alitle (4) The Little

A7 Choose the correct form of Indirect Speech of the sentence.
He says, “I go to gym every morming.”
(1) Hesaid that he goes to £ym every morning.
(2) He says that he goes to gym every morning.
(3) He said that he used to go to gym every morning.
(r-l} He says that he went to gym every moming.

8~ Choose the correctForm of Indirect Speech of the following sentence.
Rajesh said, “kbought a caf yesterday.” :
(1) Rajesh Said that [ havg bought a car yesterday.
(2) Rajesh said that he did bought a car the previous day.
(3) Rajesh told that he had bought a car yesterday.
(4) Rajeshsaid that he had bought a car the previous day.

9. Choose the appropriate phrasal verb.

The books on Shakespeare 10 shelves.
(L) takeup (2) takeover
(3) tumnup (4) tumover

Read the following passage and answer the questions that follow (Q. No. 10 to 14):

While riding his bicycle between two and three O’clock yesterday moming along the
unfrequented locality of the Pimlico Road, a young of foreign extraction named Joseph perceived
the body of an individual stretched apparently motionless in the gutter. He alighted from his
machine and discovered that the victim of the occurrence had been assaulted by some criminals,
who, after relieving him of his watch and all available cash, had made off undetected. The
unfortunate victim, who appears to be well-connected, has not yet been identified. He lies at
present at the Three Stars Hotel in a critical condition, whither his compassionate rescuer escorted

him in a cab. Hopes are entertained of his ultimate recovery. The police are on the alert.

A87 ‘unfrequented locality’ means
(1) people often go there (2) notoften visited by people
(3) frequent transport is not available (4) prohibited area

(TR "
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AT Josephis ___, according to the author.
(1) anative of that place (2) a forcigner
(3) anoldman (4) the vicum
/l'f, Where did the bicycle rider find the victim?
“:"' at Three Stars Hotel (2) in the field
(3) inhospital (4) inthedrain
/Y.f What is the meaning of the expression ‘well-connected’?
1) having good social contacts (2) having connected to the assailants
(3) well connected to the locality (4) connected with the crime

-+4— The ‘machine’ mentioned in the passage is
(1) the weapon used by the attacker(s)
(2) the victim’s personal weapon
(3) the bicycle
(4) the police gun

15, Choose the word which is similar in meaning to the underlined word in this sentence.
The poor family has no visible means of subsistence.
(1) employment (2) respect
(?;) livelihood (4) encouragement

_16— Choose the word that is nearest in meaning to the underlined word in the sentence.
His Cartoons lampooned the leaders of his time.
(1) Praised (2) Exposed
(32 Ridiculed (4) Elevated

1+~ Choose the antonym of the underlined word in the sentence.
Kiran’s attendance at school was sporadic.
(1) Regular (2) Occasional
(3) Sharp (4) Co-ordinated

18 Choose the word that has the opposite meaning of the underlined word in the sentence.
When she saw the stranger, her eyes dilated with fear.
(1) contracted (2) widened
(3) reddened {fi) quietened

_19— Choose the correctly spelt word.
(1) Playright (2) Mispell
(3) Skilful (4) Untll

TR s-C
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20.  Choose the correctly spelt word.

(1) perceverance (2) perseverence
(3) perseverance (4) perseveranse

: : W : : , ing sentence.
2+ Choosc the appropriatc sct of prepositions and fill in the blanks in the following se
TheSunis _ the clouds, Vani drew that picture a Crayon.

(1) on,of (2) above,with  (3) with,for (4) against, across
_22—Choosc the correet set of prepositions and fill in the blanks in the following sentence.
Strred _ pride and envy Satan rebelled God. |

(1) off, on (2) in,with (3) with, with (4) by,against

23, Choosc the sentence which is grammatically correct.
(1)  Theevent be telecasted next week. (2) Theevent will be telecast next week.
(3) Theeventis telecasted next week. (4) The event will telecasts next week.

247 Choose the grammatically correct sentence.

(1) Ofthe two major political partics in Britain, the Conservatives and Labour, the later
represents the interests of the working class.

(2) Ofthe two major political partics in Britain, the Conservatives and the Labour, the
latter represents the interests of the working class.

(3) Ofthe two major political partics in Britain, the Conservatives and Labour, the letter

" represents the interests of the working class.

(4) Ofthe two major political parties in Britain the Conservatives and Labour, the latest

represents the interests of the working class.

&5- Choose the meaning of the underlined phrase/idiom.
He 1s a sensible person and knows how to button his lip.
(1) smack one’s lips (2) stylishinappearance
(3) press the lips to look smart (4) remain silent

;6./ Choosc the meaning of the underlined phrase/idiom.
Envy 1s just like a Green-eyed monster which can de stroy everything.
(1) Anger (2) Hatred (3) IJealousy (4) Flattery

2/7./ Choose the option which can be substituted for the given words/sentence.
A tall strong masculine kind woman.

( .I.-) amazon (2) wvirago (3) circe (4) coquette

_28. Choose the correct one word substitute,
The school or college in which onc has been educated.

(1) Leamer (2) Alumni (3) Almamater  (4) Graduate

IHMAER R e
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29. Choose the one which best expresses the given sentence in Passive Voice from the given

oplions.

One should keep one’s promise.

(1) One’s promise should be kept by us.
(3) A promisc should be kept.

#30. Choose the correct Passive form for the given sentence.
No one told me about the accident.
(1) Iwas not told about the accident.

(2) [am not told about the accident.
{li) I have not been told about the accident.

(4) [was nottelled about the accident.

(2) One’s promise has to be kept.
(4) A promise should be keeping.

4 2 3 2
3. t i ey -:_:-11'“'.
317 The tenth term in the sequenc 217 7 3 is
i g ':i z ! HPEDoSD HEH HE
! grigrigh T SERRRRORE 8 z
15 62 27 104
= — ” —— 4 —
I[.l} 7 (2) 21 (3) 7 ) 21

327 Among the first eight terms of the sequence 1, 2,2, 4, 8, 32, 256, 4096, ..., the term which

doesnot fit into the sequence is
(1) 3¥term _ (2) 5" term (3) 8" term (4) 7" term

- 1,2.7. 4, 8. 32. 256. 4006, ... o$EH0SD IS DB HToS, & odHEeS”
$6HED (2B06) Vo
(1) 335 H&o (2) 55 H8o (3) 85 H&o (4) 75 HSo
L

/3{ The tenth term of the sequence 7, 14, 19, 29, 40, 44, ... is '
9 14, 19, 29, 40, 44, ... ©HEH0S'D HES Do
{1} 73 (2) 103 (3) 93 (4) 83

}tfr IfABBB — — AAABA — - BABAAAB — — BBA is the given letter series with six missing
letters, then the correct option which contains all the missing letters in the order from left

to right 1s
#r
eshy 5*Ho0S wiores® ABBB —]E'AMI#AE’-QBAIBMJQE{E L BBA s38 58 wgd @

ond, 52008 wiore SDoLN IEH Hod b JYIH Vvl EHos® EONG) SOID

I:‘ﬂ‘;]gﬂ
(1) ABBBAB (2) ABABAB (3) BABABA (4) BAAABA

AT C
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35, IFBDGL, DGLN, GLNO. is the given serics, then the correct option which fills
the muissme tenm s -
BDGL, DGIN, GINQ, . dn 6335 cond, $Dodd 5od) Goo “0ghs
D80
(1) LNQS (2) LNQV (3) LNQT (4) GL\V

/’lﬁ‘_ I£Z25A, X21C, T 13G. _ __isthe given scries, then the correct option which fills the
MISSING (erm is
L25A, X21C, T13G, 36 63 @5 cond, S*Hods Hord) ool I8
;::1;'.}‘:,5‘:0

(I) SSL (2) TIOM (3) NIM (4) RI0K
AT, Inacertain code lan guage if the word PENCILS is coded as WKSGLNT, then in the same
code language, the word DRAWING is coded as
&5 003 F'oerad PENCILS od 2650 WKSGLNT m 86 &b, «d §6as"
DRAWING wisdo Swg), §'a
(1) JWEZKOI (2) KXGZPH (3) JWEALPH  (4) KXFALPH
}Sf’ Ina certain code language if the word DELICIOUS is coded as DLCOSEIIU, then the word
which is coded as COOATHCLE in the same language is
DELICIOUS e3 oY) 8 PY §6erde® DLCOSENU e 86 &%, «d §&arads®
COOATHCLE r~ §'& So%2835 280
(1) CHOCOLATE (2) CHAOCOLET (3) CHOCOLAET (4) COACHOLET
In a certain code language if the word FRUITS is coded as 61821 1878, then in the same
code language, HEALTH is coded as
&8 00D §&arhes® FRUITS od 260 018211878 §'6 wond, ©d §&arAads HEALTH
Qg &6 S
(1) 85115719 (2) 85112208 (3) 19222615719 (4) 19222612208

j_(_]_._, A point B is 25\[2_ m away along North-East direction from A. Another point C is S0 m

distant along West direction from B. The end point D is 502 m away along South-East
direction from C. Then the distance (in meters) between points B and D is

B od Dodolh A %008 Gig 86 25V2 2.0 ErBoss’ $08. H6' DoH C. BE%S
87 Joad B Hod 50 . drfoes &08. C Sod wodg HooPh D sHoH BIS*

S0V2 Do, 6780t 08, Gyt B 5605 D Dodhge B85 Erdo (Sobrses?)
(1) 50v2 (2) 50 (3) 25 (4) 252

T bC
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At Aclock is so placed that at 6 pm, its hour hand points towards South-East. Then at 9 pm, the

hour hand points towards
(1) South (2) North-West  (3) South-West  (4) North

Frdodo 6 fobo 28 KAdrod), IS Soboldney whjchivpor Godbla
©odTH. wayd, oM@ 9 fobeoh Kobednw drdod &F

(1) &80 (2) oowsgo (3) 38 (4) &d€do

Two friends A and B are standing opposite to each other at about 8 O’clock in the moming.
If the shadow of A is exactly to his left side, then the direction faced by B is

(1) South (2) West (3) East (4) North
, @da®o § fobe @odos’ A, B o agh Dghen 2588 HEEH 06N Nond
ﬁmnﬁ:r A RBwg), O pNFo ©EI JB IS &oB, B @ﬂm:!mrﬂ‘hﬁi &%

(1) &éeo (2) HE (3) &y (4) wddo

~437 Ais B’s father. C is B’s sister. C’s husband is D. E is A’s brother. D’s sonis F. Then Fis B’s
(1) Nephew (2) Cousin (3) Son-in-law (4) Brother
B Qo8 go@ A. B @), a8 C. C o), 58 D. A Gwg, &#6td E. D Qg

- Bodrdody F. wond BE F

(1) Sodendd (2) #=28 (3) wend (4) &Sk
.5#. If A says “B is the son of my sister’s daughter’s husband’s father-in-law”, then A is B’s

(1) Maternal uncle (2) Paternal uncle
(3) Father-in-law (4) Brother-in-law
“B eldardy o0 80 Gl Srédd G, I8 Q) Scdormrd SHsrdd”. od A 3G,
B8 A
(1) 89 &F&Sdad (2) &od ;&
(3) Soedommdo (4) oS Do 255008

45— If A+ B means Ais son of B and A x B means A 1s brother of B, then A x B + C means
(1) Aisfatherof C (2) AissonofC
(3) B is fatherof C (4) Bis brother of C
A+ B @08 B g, H35r06 A 8o A x B @olf B G FEHE A wond,
vy AXB+C wod

(1) Camng dod A (2) CRng Hirdd A
(3) Cawg), do@ B (4) C g, st B

LT  sc
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igu or Hindi or English. If
and Hindi, 25 both English
cak only Hindi

467 Every student of an educational institution speaks cither Tel
50 students can speak both Telugu and English, 35 both Telugu
and Hindi, 5 canspeak all the 3 languages, 15 can speak only Telugu, 25 can speak on’
and 10 can speak only English, then the total number of students of that Institution s

“8 ATRORS* P8JTgY Bewih Mo Bo wod M dor moha ma Srirderd.
30 Hoo0d TR0 BeorHd Hodcin 30hQ Bodod, 35 So0d Bentl> So0a%0 &rod
0080, 25 5008 WoAQ HBckw o Bodod, 5 KN Srd rHesR, 155008
By S, 25 5008 rohd SrEHh 0ok 10 508 20ARK SmED Srind

NOARE, e RORS'Y Jwdo dIgiie dowg
(1) 145 (2) 165 (3) 150 (4) 160

A7" The converse of the statement “If a number is even, then it is divisible by 2 is given by “If a
number is divisible by 2, then it is even”. Here both the statement and its converse are true.
With this information, choose the statement among the following four true statements
whose converse is also true.
(1) [Ifatriangle is an equilateral, then it is isosceles.
(2) Ifanumber is divisible by 6, then it is divisible by 3.
(3) Ifthe sum ofall the digits of a number is divisible by 3, then the number is divisible by 3.
(4) Ifaquadrilateral is a square, then its sides are equal.

"8 Sowg DBdowg wond, vd 2 B rhotaddod’. ud PISSo B, hﬁdg:::ﬁa:ﬁ:‘u
"2€ Somg 2 B wrhovindd, wd J0opg’. A¥d BISISH 2ok T JHEZE0
Bodor Sdgo.

& J3Sroros’, ol al)dS Teolh I8y PIST oS!, IHEgehin Sra degBodiog
B339 owood.

(1) 2% @zo JdDerdv @028, ©d SH8ErIv BrhasTdoed.

(2) =8 Somg 6D rRodsB, ©b 3 BS grAodatE0s.

(3) =% E‘E:nq:-gﬁ‘.f] woswdndgo 3 T rhodwds, & ﬁaq&g 33 erfodatdaiod.

(4) =8 Sédypzo SHEHRDE, T Tk gharen dirSsn.

f&&r”ff ‘@’ means ‘+’, ‘¥ means ‘=, ‘S’ means ‘=’ and ‘%’ means ‘x’, then the value of
49@64#75525%36 1s
‘@ mod ‘4, ‘# wol ‘=, 'S wol ‘£ H0805n ‘%’ wold ‘% wond, 49@64475525%36
G308, Jend

(1) 5 (2) -123 (3) 93 4) 6
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A9- A car covers a distance of 360 km in 8 hrs, The speed of a bike is five-sevenths of the specd

of the car. If the ratio of the speeds of the bike and a train is 5:9, then the distance (in km)

covered by the train in 3 hours is
28 $% 560 8.20.0 &r0°d) § Hobos' Bofods. o¥ BE Jisn & 5o Dot Do

2655 Sodom &ob, & BE $08a5m & Ben Y, ITeIR 5:9 wand, 5 fobed’ 9

IHHEOA Erddn (§.20.0%)

(1Y 250
(3) 350

(2) 450
(4) 400

58— The distance between two stations A and B is 240 km. It takes 2 hours for the two cars L and
W to cross each other if they start respectively from A and B at the same time towards each

other. Further, it takes 8 hours for L to overtake W if they both start at the same time from
A and B in the same direction. Then the speed of the ear L (in kmph) is

Bodd AP A So8csn B o Sy Srdo 240 8.2, LSodokio W s ok 576 S6dm
A 58050 B © 5508 28 556008° 2ohendd IEBEHM HSrS R, af TRASEE
oréobss BT oo 2 fobwo. 205, © Dol 578 A S0005w B e Hobd 28 dfchos
2oHendd o€ 8%S* PHoirsdh, W L obedd 38 soo 8 Hoben. @lyd s7¢a L

Gog), Ao (8.20/K0tasd)
(1) 45
(3) 75

(2) 50
(4) 80

—An employee will be late by 12 minutes to his office if he rides his bike at a speed of
40 kmph and he will beon time to his office if he rides his bike at a speed of 50 kmph. Then

the distance (in km) of his office from his house is
28 G&'gh wdd Ardrdd P8 Hobaks 40 8.0, o J0s* 3698 wdd s 12 die

sedgormr Dherd H0aid @3l Wrird Pl Hobdr 50 8.0, © Jod” DS w8
ettt HHGHS HHohHos*t Bdadd. ond wdd 2ol HHod @dd shind e Srddw

(8.80.e2¢5%)
(1) 80
(3) 20

(2) 60
(4) 40

Ty 11C
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. - t
Directions for questions from 52 to 54 : In cach of the following questions ﬁ"jnm jlw?l ”5:: ;
statement is given followed by two conclusions numbered I and I1. You have to decide

the conclusion(s) follow (s) the statement,
Give your answer ag

(1).1f only conclusion | follows;

(2), if only conclusion 1] follows;

(3), if neither conclusion | nor |1 full-::ms
(4), if both conclusions [ and 1T follows.

52 fcod 54 565 Ke BHod dersSe: o8 onSguds 52 Sod 54 Sd% Heo li'-*"'%.FJ.'&'M'SE
EETRS 2.8 B5550, D Jowd [ 5obas 11 &3 Boh edododed (conclusions) asgd3ood.
84 B33 J w18 B wHDden eXBBTAr S IgBowd.

EDNB [ Sm@D eosedh, o s50oso (1) ed;

D8 I Smgd TR, D SSrgrdo (2) wd;

Rl [ [T os' 08 vtos0s5ad, o s3rmso (3) wd:

eRDdHe I, Il oo Bodr w063, & ssrmso (4) vd awdcod

227 Statement : As it stands today, some Indian sports are not what they were once. India
had significant victories in football and hockey earlier.

Conclusions: I)  Presently we have no good players in football and hockey in our

country.
Il) India lost many football and hockey matches in recent years.
BS3350 ST FQ) grddan §den 2EPE Gt Vi BY. gods S0

JBrS Hdotw FHEest rddddo AR0HRN daciro Sobod.
ehodw @ )  @DRdo 58 Bios® HSerS 58050 Seherest S0 sl B

I) =z8Soswos® grésdio oer T8 PGS DHdckn T8 FBest
wdudbo F8ob.

53{'/ Statement : All rectangles are parallelograms.
Conclusions : 1) No parallelogram is a rectangle.
[1) Allparallelograms are rectangles.
D35550 : C29)) 5-:5 SdiFrer Sirods PLALSESGE
gododen @ ) ﬂm’ﬂéﬁ Sddyzsor ﬂgﬁ&ﬁ@m 5 .
N ey 87088 S&dnerer E':tﬁ S S.

LR -
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i B are extremities of a dizmeter of 2 circle. I and () arc any 1%0

Statemen: Aandk tremmnilies
- - " % ) " I - = fr .E__',.:.,nr,,__-
noimnts on the circle such that APB() 15 a quadnlateral
-

Conclusions: 1) APR=/A0B

i gy oy i oy
:E';:I:I; '-Er..n.il;.ﬂ_. fi"-ﬂﬁ,fl:-a.ug-t--

A toweris in the shape of 2 cylinder surmounted by 2n inveried cone of the same bascarca

2s that of the cylinder. If the radius and height of the cylinder are 26 i
raspectivelv z2nd the heicht of the cone is 5 m, then the lateral surface area (1n sguare

""-";"""""i" ey

[t - |
—_ - e - g ta oS o f e
25 mpoon IR EoETE S mEnEtn go3Tego ESRDS 2B fogoalw & EGT‘-’J:J_-JT'
— . i [ [ -

(1) 330 (2) 2206 (3) 33046 (4) 220

e e —

“he radius of the cone are 13 cm and 4 cm respectively, then the volume
(in cu.cm) of the ice-créam 1s

The nart 2hove the cone filled with ice-cream looks as 2 hemisphere surmounted on its top.

(1) 198 (2v 176 (3) 332 (4) 396

&7 From 2z wooden cube of edge 14 cm, 2 right circular cone of maximum volume is carved

out. If the volume of the removed portion of the cube 1s V, then 3 V (in cu.cm) 1s

14 208 soteds AOAS 28 By DS 2ob f’{s“ﬂ DH505rSn EOARD oE won

< Zapsds Do, SESn Kod Sohcdd o RwE, wEHHS w0 V, Loxd
- -

2744 (2) 202533 (3) 868 (4) 6076

AU 13.C
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and height 8 inches 1s melted and

. A solid metallic riaht cire ' dius 3 inches "
—58 1ght circular cylinder of radiu bo base of the cylinder. Then o

recast into identical hemispheres whose base is equal to t
number of hemispheres thus formed is

3 woihere T5go, 8 worirre Jd Ko ¥ 2 vonS)Bed ST SpPA) 80hoD, &
P00 B0Y), BETIE SITSLS Bro LORS HEHIENS B TeIT FEFTH. SO
& JGomr SrZrods Eﬂgﬁ‘ﬂ‘ﬂ domg

(1) 2 (2) 4 (3) 6 (4) 8

59.  Assolid iron cube of edge 24 cm is melted and recast into a rectangular sheet of tl.‘licknesls
2 mm. If the length (/) and breadth (b) of the sheet are in the ratio 6:5, then /+ b (in cm) is

247000, @othiie 2,8 K& 20D IS0 EdA0D, 2 0.2, Sr080 SRS BY, BSOS Y
SN S T, & % Bwy, FEH () 005w Idesy (b) © InG 6:5 wons,
e [+ b (Dondes*)

(1) 484 (2) 528 (3) 561 (4) 594

6B A vendor sells vegetables at 12% less than the cost price, but manipulates the weight of
800 gms as 1 kg. Then he gets

(1) 10% profit - (2) 10% loss

(3) 15% profit | (4) 15% loss

a8 dFmdds Srimabos FF) &8 508 12% S5 5% wlved, wond 800
rane 28HH wf S rsnm S20)00 wloerd. vdyd ©8d8 STHE

(!_} 10% ergio - (2) 10% &0

(3) 15%erso (4) 15% &%o

}L(—'A dealer bought an article for Rs. 400 and paid Rs. 40 towards its transport charges. If he
sold it for a profit of 20% on the cost price, then he gets

(1) aloss of Rs. 40 (2) aprofit of Rs. 40
(3) alossofRs. 80 (4) aprofit of Rs. 80

2.8 3050 28 3090 400 srioH 5, 0 S DA 508 40 drien Bdoard. §J)
362 20% orfod” TV DEon, eByh vEh Fods

(1) 40 &ruen So (2) 40 S>uen erzo
(3) 80 c&ruen SHo - {fe] 80 drnen ergio

GG 140
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527 A telephone is sold for Rs, 4,000 at a loss of 10%. Then the price (in Rs.) at which 1t must

be sold in order to get a profit of 17% 1s
= S50G 4000 Sriuds JFonodndod. 17% orgo Fodads, TR

E-E r-;‘:df:.'w ]ﬂ"u rn.r::ﬁf.:
Difcnodioens &6 (Cound')
(1) 4,400 (2) 4,800 (3) 5,200 (4) 5,600
~63. If 2 cenain principal amounts to Rs. 34,000 in 3 ycars and to Rs. 40,000 in 5 years at a

simple interest of #% per year, then r=
ZoLE o0k e dtas Fod uhus 3BosgTost 34.000 &anen H06E) §S0SHTOS

B ot et P il

e

40,000 Z2ges Sagocn, wivd r=
(1) 8 i T (3) 10 (4) 12
L&47If a principal of Rs. x, at a rate of interest 20% compounded annually for 4 years amounts

to Rs. 62,20, thenx =
x Ciw, whes o) S0 20% SE34 Anded’ 4 SodHiiine e sdlg 220g0

¢.62,208 wond, wisds x =
(1) 30,000 (2) 40,000 (3) 35,000 (4) 45,000

_£5. Aman borrows Rs. 5,000 for 2 years at the rate of interest of 16% compounded yearly. If
at the end of the first year he paid back Rs. 500, then the amount he should pay at the end of

the second year is
sdi 16% S1554 4 5,000 Emiwi® 2 $058)6500 s7erdE edym B0BoTn .

2.8 Sk &

T4 Soldicrododst wdds 500 dones 385 BI R, BodS BoSdTrodos” wddd
EEGE:;:‘E?JFS ;‘.':':i:.:g}

{'Il Rs. 6,228 (2) Rs. 6,148 (3) Rs. 6,728 (4) Rs. 6,643

(‘6'6.-_-_111{: simultancous linear equations 2x -3y + 4 = 0 and 3x - 2_1-—_ 4 = () have
(1) no solution (2) unique solution

(3) finite number of solutions (4) infinitely many solutions
2x =3y +4=058c833x—2y-4=0 23 AE0E JELrE dEdreb
(2) 988 &ES Golnod

(1) &5 ot
3 (4) ©w503TIE PGS Gotron

(3) &&ie fopy Londom Golnch
If the simultancous linear cquations 2x — ky + 5 = 0 and 3x + 2y — 7 = 0 have a unique

P
solution, then
2 —ky+5=0Z8c0 3x +2y - 7 =023 55508 JEHrd dDESerosy JBE FES
Lo, B
4 . 4
(1) ,k=-3 (2) *=-3 (3) k#-3 (@) k#-3

AR AT 15-C
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587 30 apples and 23 suavas together cost Rs, 392. If 7 guavas and 15 apples of the same kind
together cost Rs, 178, then the cost (in Rs.) of an apple is

30 esDeS VO Bo8osn 23 o Bod Bodo pbd 392 Krien, wIGEY T 2 Hody,
1 UbE Sod Zugs w86 178 draco wond, 1E BbS Soks Pt (EMIOS)

(1) 20 (2) 14 (3) 10 (4) 4
ﬁg."’l?ﬂf21+1?*-3{i+3x_ﬁl+ﬁ=
(1) 426 (2) 356 (3) 383 (4) 330

K. The sum of all two digit natural numbers which are divisible by 3 is

3 B 2rhodad Bodome N2 dopgodot Indo

(1) 1665 (2) 1776 (3) 1110 (4) 1265
71.  The sum of the 9th term and 12' term of the series -1—, L, —l—, I £
=l Tl et 5

I & 7 "

75 777 7o - @S 935 B850 S8csm 125 Sore Bmdo

7 11715 =

1 10 10 98
l | e Pl —
1) 221 (2) 663 (3) 221 ) 2365

22—Ifacard is drawn at random from a pack of 52 playing cards, then the probability of getting
acard having a prime number is

52 08 Snfen Ko ol HE 5@d0os dirdytfomr o€ DH S008) & BR2ILYd, B
PO EHAS DE Su& H FosmIE Ke NoerSgé

o | ,, 3y = 4y 2
D 13 ) B3 ®) 13 4 33
37 Iftwo dice are thrown simultaneously, then the probability of getting distinct numbers on
them is : _
Oodhy rdfwd JEsreodst F'oABHYD, 8D DY) NODLON PoSTIE Ko ST
> 5 I 7
2 | = 3) - —
(1) = @ i3 3) < 4 =

- If 3 coins are tossed simultaneously, then the probability of getting atleast 2 tails is
3 8o s ADEIVSHYE, ED%0 2 S rBrerSs FoSTRE He DoerSsd

1 1
(1) % @) 3 B 3 (4) %

RN l6-C
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_J37 Among the first nine terms of the sequence 3; 7, 11, 19, 31, 67, 131, 259, 515, .., 1
number which doesnot fit into the sequence 1s
5.7,11,19,31,67, 131,259,513, ..., eD§500S'Q S0a8 S0 soodt, & clEled

£8280 (aSdQ) Somg

(1) 315 (2) 7 (3) 31 (4) 131
_26— Who wrote the book ‘Poverty and un-British rule in India™?

(1) Ramesh Chandra Dutt (2) Rudder Palme Dutt

(3) Dadabhai Naoroji (4) Surendranath Benerjee

‘:f'.*;ié zof eS-D88 &S 18 nodclr HofFd) SDoDIG D887

(1) &8 Soi8 &8 (2) 686 > &8

(3) oowd® T (4) doBaE DI
A7 “Give me blood, I will give you freedom” - Who said

(1) Jawaharlal Nehru (2) Subhash Chandra Bose

_(3] Mahatma Gandhi (4) Lal Bahadur Shastri

‘T 880 adtos, 3 Dk dsoEsd) aTH” SHE ISE?

(1) 23&8S I (2) Hozrldod &%

(3) SoFtay mob (4) o6 25Ers TR

28 India was transferred from East India Company to British Crown in the year
(1) A.D.1858 (2) A.D. 1857 (3) A.D.1859 (4) A.D. 1947

08,0, &8 Roddsr Eoad SHod D8R o588 Fod §odB Srfpdd dodd)dsw
(1) (&% 1858 (2) &.% 1857 (3) 5. 1859 (4) 8.4 1947

79— Which formula was proposed by Muhammad Ali Jinnah after rejection of Nehru Report?
(1) Thirteen points (2) Fourteen points
(3) Fifteen points (4) Sixteen points
G IS68%H 8680003 Sugd Db sd 237 2 JER) P8FBoBH?
(1) d8Srdd Sm@e (2) domey drgren
(4) 26850 Soegren

(3) sbed Sowe
,SE"T" Under Lahore conspiracy case, Shiva Ram Hari Rajguru was executed on the following

date

(1) 23 March 1931 (2) 23 Apnl 193]

(3) 23 February 1931 (4) 23 January 1931
§ Sofo 320 (808 2505 &8 TEHGHS 0805 aba 67
(2) 23 J@ohd 1931
(4) 23 =258 1931

et
(1) 23 578 1931
(3) 23 HEs6 1931

TR 17.C
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ders of the revolutionary organization

~81. Which one among the following was not the foun
Hindustan Republic Association?

(1) Chandra Shekhar Azad
(3) Ram Prasdd Bismil
oBrIE BHDE cANHAS ©F 953 vop FHoS' §ob TS IS &7
(L] Soisind wrs {2] H08 [FgS

3) op>s oS (4) B, S0P

(2) Sachin Sanyal |
(4) Jogesh Chandra Chatterjcc

S$27 The British Officer Saundars was assassinated by
(1) BhagatSingh (2) SuryaSen (3) Jatindas
D82 €658 il 2568 ey Bobam.
(1) ndhoh (2) Jroghs (3) =888 (4) [0S Jd5gS

(4) Sachin Sanyal

/33‘. Who criticized the offers of the Cripps Mission as “the post dated cheque drawn on a
folling bank™?
(I) Nghru (2) Gandhi (3) Azad (4) RajendraPrasad
85) DAS L DEIES TBI, “Brer HRY) wgost AWF) Swosty DSy
QSE IBBoTdd?
(1) IFw (2) mob (3) w=rb (4) oHodH>E

/84“. Naganika who ruled the South India as a regent during the Satavahana period was the Queen
of the following ruler?

(1) Snmukha (2) Satakamnil
(3) Satakamnill (4) Gowthami Putra Satakami
TETITDO S00S" BEe rEERTY) Tag SoSEHTIT FDoDS THEIE & BodTOS
J58 ored?
(1) 2S0modd (2) 3068 888
(3) Tods TSE8 (4) TS0 TSED
857 During the Satavahana period, for the Administrative purpose kingdom was divided as
following,
(1) Ahara (2) Nadu (3) Sima (4) Sthala

FETIT0O TFOT TS JbFros Toeigo §%0 orargd) 808 Do Dﬁﬂm::*cb.
(1) e (2) &do (3) 8% 4) Reo

VR 18.c
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80. Who was the founder of the Pancharamas in Andhra?

(1) Kubja Vishnu Vardhana (2) Pulakeshin Il

(3) Rajaraja Narendra (4) ChalukyaBhimal

so|gdfoes* doTrordry aa'és‘j Ty

(1) Sz 28 S (2) Bo&d Hos3

(3) ozoz $od (") 3E8 sy Hdndd
P .F'iacc the following rulers of Vijayanagara in the chronological .order

1) Achyuta DevaRaya ii) DevaRayall

111)  Venkatapati II iv)  Saluva Narasunha

Eod DuasHrsng FoHY) serHEDom DEod.

1) ohgd BSock ii) Do&s BSoroden

i) Bods Jo¥Lns iv) Aeod S$C6Bo

(1) 1, i, iii, iv (2) v, iii, ii, i (3) iid, i, dv, i (4) i, iv, i, iii
_88~ Who was the Author of the work “Sakalaniti Sammatam™?

(1) Prolarajall (2) MadikiSingana

(3) SingaBhupala (4) RudramaDevi

DEOIB JJ0ydSn’ (ol GSond JISH?

(1) Boss @eoe (2) 88 ok

(3) Dok grdend (4) HIB2BD
89, The construction of Orugallu Fort was initiated by the following Kakatiya ruler.

(1) RudraDeva (2) Ganapati Deva

(3) RudramaDew1 (4) ProlaRajall

LKen §'& Q07Erd) 8boPodS SE8aH s,

(1) SHEaHd (2) HKeedd@ BHb

(3) BB - (4) BokS o o

967 Inthe following which Telugu work describes the daily life of Krishna Devaraya?
(1) Manuchartra (2) Amukthamalyada
(3) Rayavachakam (4) Krishna Devaraya Dinachare

& 1808 2 Benid Hogoes® &1 BdoroDR) BIBEg SPotndod.
(2) sSngSregd

(1) L350
(4) %RB50cH BFI0

(3) oroSaar s

TR GARIAT 19-C
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9t NMarakamarn s tamous tor
(1) Texules () Gold () Diamonds (#) Lopper
SEEsrS O R %
(1) :31;'?1‘” (2) womdo (3) Jprew (4) o0
A2 Andhra Matula Sabha was established hj..
(1) Saropm Nadu (2) Du wah Deshmukh
(3)  Muttu Lakshuu Redd () Duwvvun Subbamma
GO DTrey 20T ALOTRAIS
(1) 3520 Fadod (2) Semarod AL
(3) wdel, ‘ng 1:1 ‘x:-‘“'\'* mg::.v
3. Sn ‘h!uLh.llmL.ml 1s loc .11::-.1 on the thn of the nver
(1) Viunsadhara (2)  Nagavah (3)  Gostham (4) Champavan
D 58 niyd § Sopdolo §odk?
ll} "E‘*"tz‘d (2) arsd (3) R (4) dod3a

—— e — ——_— =

4% Twoobjec Aand Bare projected up with veloeitios 20 ms ' and 30 ms ' respectvely The

ratio of the istances travelled by them in the last second of their ascending motion s

A, B e Do 3P SO8m 20 ms L 30 uns ! drost =8 20T TN wie
Sol0od! D30 WENS® ¢l Ealrded drvro G

(1) 2:3 (7)) *4] (3 1:1 U‘l Q.4

= = T G

S -

A [‘.-.J.I'IILIL of mass *m’ 15 mov m" on a cirele of mdius ‘R w [1]1 tll’nh‘!un spee d v -l_h;
average force on particle in the interval in which it completes a halt cirele 1s A 1[ o

ey ;::-:Ssn‘u o nE soo R :'5;.‘:*3a e :mq.ﬁ 2538 34 v & GORr AN, ua

edddo -“g wododosy %ﬂ"uaahﬂ:ﬂ‘ S'W R AR KRR noo A8 Ixr30
n” 2 " e 3
(1) &% (2) (3) — B e
R R R Y ol

F6. A man of mass 80 ke is moving in the ¢ mu;‘n.mlmm of i teaiiAvith ,ng[lmn u‘ 10 ms-}

|

eastwiatrd wath respevi o lnun Irune. The run s mov muw ith an L'Iﬁ:lh o 10 mis “ estward
with e 'n['.lLLt o !_qulhi The kmnetie chnergy ol a man m the Ll wind ANE 1M h‘lllh %18

N() ktu }_ﬁfﬁaﬂ‘u ﬁj:.: L S d:..u &' FoR &' o ddome AFANIYS* 10 ms !
aﬁ{;u gmwmlﬂ:‘:}} Em 10 ms :."*nau LA0J HImr k;uum'ladﬁ,ma‘h S l.:;L\‘.J'\-‘
4o wad KoiE TSos* h

3 5 .
I o (2) 4x100  3) 160 () S0

T 20.¢




[E] Booklet Code Cl

How much of heat is 1o be renmoved from 50 g ol water at 50°C 1o converl it into jce at

0%

, 0°C? (Latent heat of fusion of ice — 80 cal g ' and specific heat of water = | callp/*C)
S04 C :::q;{_:‘iii e %) 50 p o 832 0°C :.’;.::j Seausy (ice) e :’;:-ddf.:'r'.iﬂ i) @06
FohoTdyd g Dend Jod? (o Howglsd ri:.:.}:ﬁn “0 cal ¢ I Z0d53 8
QIAHRS0 | cal/p/*C)

(1) 6500 caloric {?_} G50 ealorie (3) 6501 (4) 6500 J

_98 '[‘|'It.?.‘-:]1‘1.:'l..‘l.lH[':‘itil.l'l'lﬂ inairis 340 ms L ITits ];I:l-.!{|.ll'_::l_ll.'."‘_'f_i5 I'HI['l-:af,!Ilcnlhudiﬁlunﬂehctwecn
compression and immediate rarelaction (in metres) 1s
mOS* Ged o 340 ms L1701z &ris:digo fo G mod! Hodr iyt SCam
8BS Dobddo, DEPEGmoL Bty Barbo (MHLEST)

(1 (2) 2 (3) 3 (4) 4

99 The phenomenon which is not involved in the formation of rainbow is
(1) Dispersion (2) ‘Total internal reflection
(3) Refraction (4) Diffraction
RO G539 JYdLod*t ) Gyighoho Bod?

(1) D3dmo (2) Hodrgoss Ho5gdo
(3) 3dgss0 (4) 23dso

100 In the circuit shown below potential at point A is 20 V. The potential in volts at pointd3 is

Bod Horbd Sodho (circuit) & A Do) 3§ ﬂ'EF.l}P‘.bé' 20 V wondS* B Doy 58
2B G (volt) os*

A 5V - f
A s—>—NW—— B
50
(1) 20 (2) 15 (3) 25 (4) 30

(rﬁl.

Two particles start simultancously from origin and moves along +ve X-axis. One particle
moves with uniform acceleration starting from the rest and second particle moves with

constant velocity. The distance between them
(1) Continuously incrcases

(2) Docs not change
(3) First increases, decrcases to zero and then increases

(4) First incrcascs, reaches a maximum value and then remains constant
Aoy eren Sore Dot S0 tve X-wio Joad B0 Hoirdotdo Bubden DiTow.

288 dfHopd Hod Bndoornd 860 debmos® HolrediyH)d. Doddd JEIHod”

[Dosresd)st T8 Sagig Gorbo

(1) ESomr EHS&H08

(2) S

(3) Roodes BON, WHE &, SogE DL

(4) Boodts ON, K07 Dewddo Fob, BuRE I Hrd)) Gobd

QU 1.0
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IPE: The products formed during the clectrolysis of brine arc
E % d8ogBdamo BoBodsivds

(1) NaySO,,S0,, 1 N (2) N Cl
) 41 » 1y } :‘HEIEJ}I. !I:}} i’
(3) NaClH,,clI, (4) Na,CO,,CO,H, —

103. Which of the following is an ingredient in antacids?
ol o8s* 28 BRIFDOS (antacids) w8 ghom ¢olsoh?

(1) NaQCDJ (2) Na,S0, (3) NallCO, (4) « } agf'rfjif
).134. Igl::mifj,r the metals which do not react either with cold water or hot water from the list
aivenunder.

wf y w

508 D& B0, Bod DB md, 38 HBsmo 80y Todd SEeL fuguiih.

Mg Al K Zn Fe Na
I 0T m v v vy
(1) LILVIonly  (2) LIV only (3) ILIV,Venly  (4) II,Vlionly

10857 Which of the following has the lowest pH value?

(1) Blood (2) Gastric juice
(3) Pure water (4) Sodium hydroxide solution
08 TES' D86 3% pH Denddo §0A &otnod?
(1) &% (2) 266650 (myR 650)
(3) DG 200 (4) >achHopr@EBé Edmo
}Gﬁ? Which ores are generally subjected to roasting in the extraction of metals?
(1) Oxide ores (2) Sulphide ores
(3) Carbonate ores (4) Sulphate ores
S0 Y Ees’, J TrhHIHod Fréoomr PGS Bdcho (Roasting) &' Bads?
(1) &3)6 gdoHhen (2) 3886 zdhe
(3) =EIE TéHen (4) 35S pdsHen
107—~The metal lead is present in the ore, X and metal mercury is present in the ore Y. X and Y are
respectively
(1) Bauxite, Pyrolusite (2) Haematite, Galena
(3) @Galena, Cinnabar (4) Cinnabar, Galena
X el IS’ BE 'Fo Golnod. Y el oy (ore) &* S68680 S'%o Gobuos.
X, Y en 383 :
(1) 58S, pEe0S (2) %8S, Ao
(3) RO, Plderd (4) DSr6, RO

1087 The oxide of metal X" reacts with both hydrochloric acid and sodium hydroxide. What is X?
X' e o BnY), 58, TEEBE vio, Fdaho TIERE ToBollG 'S =4
Sot&08. ‘X’ @588 287
(1) Na (2) Mg (3) K (4) Al

AR 22.C
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a food cham.
l.ocust

(>-1)

109, Following are some of the organisms in an ccosystem. Arrange them as
b Iy Trop 1) 1) Snake V) Lagle V)

Ciriss
ol dahdn HH00'D BQ) S Bod LUy, Snon. U 558 FPendam ©Sgyod.

) ) ) AG SwoGer ) 250 V) (8 V) D88

(1) M1V V (2) H—=>V=1=21121V

(Y V=il V=l (4) _V'—?I]-‘*IV—HH"—?I
L0100 Snow-blindness is due to

(Y Infrared rays (2) UV-Arays

(3 UV-Borays (4) X-rays

Y ﬁm’i.ﬁﬁl‘: Erdmo

(1} HDodorn Bdmron (2) UV- ASSerw

(3) UV-BBidme (4) X - Bbeoren

*{,,-I'I'T. IPick up the mismatched pair

(1) Coxal glands - Scorpions (2) Malpighian tubules - Insccts

(.3)  Nephridia - Prawns (4) Flamec cells - Flatworms

wOn® 2d Wi wad Mhiodod

(1) 'S fodes - 86 (2) BrO)NoHs TPEen - §dasrens

(3) Syrgoo - Gddogeo {41 e Soren - 2ed6R Pdied
127 Mateh the following,

List - | (Chordate group) List- 11 (Example)

a)  PFishes 1)  Bungarus

b)  Amphibia i)  Camelus

¢)  Reptilin iit) Labeo

d)  Mammalia iv) Passer

v) Bufo
bodl U wdhidol.
rfer - | (508 Sidordro) ardoe - 1l (eodrde)

a)  Boongen i)  womrds

h) oo i) Sos

¢)  D00yrw i) dodir

d)y  fdoreo iv) S

V) oo

The correct answer is ;

DOGD HBIEGDW

(1) a-iii, b-v, c-i, d-ii (2) a-iv, b-v, c-i, d-ii

(3)  a-ii, bei, c-v, d-iii (4)  a-iii, b-iv, c-ii, d-i
AU 2.




C

Booklet Code

rmal power plants

Ly
il

rfl

e |

Lo
o

b

L |
M

= L
o
i

g g
e o
e 8
N =
21
e u..___

i oF
e
‘..“- .o
(S
._.r..__. = J
N7 J_
o
-..-

o
1 b
ST
Lo e R

hn.-...ﬂ

il

W
L | o

{1

i
8
)

common in

(4) Cious
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—
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-
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(2)  a-v. b-ii, c-i, d-iii
(4)  a-i b-iil, e-iv, d-ii

1)

L

g - [ (s eransE)

@ &

-

1 Be cormect answeris:

)

24-C

!
|

(CTLEmEE

T

[r——




P-1 Booklet Code C ’

Aﬁ. Statement1:  The NADH synthesised in glycolysis is transferred into the mitochondria

Statement I1 :

(1)
(2)
(3)
(4)

and undergoes oxidative phosphorylation.

NADH is oxidised to NAD" fastly in fermentation and slowly In aerobic
respiration.

Bm\ﬂ\statemcms I and II are true.

Both statcments [ and [] are false.

Statement [ 1s true, but statement I is false.

Statement [ is false, but statement I is true.

Tgg 11 Aredbe’ 903hds NADH Des'sodairs’ s§adss S3mpBas ool

Tgpg 111 8rgdoes* NADH 08 NAD® 3rforrdd, Taindird aglEode” 3808ma

(1)
(2)
(3)
(4)

esdy§8mo Bodrdod.
Tgwgen I, 11 06059,
Tgmgen [, 11 586050 3.
Ty 1 368058, 50 agwg I H650HE .
Tgeg [ 385058 57, 0 argeg 11 HOGESE.

H77 Study the following statements and pick up the correct ones.

)
1)

V)

(1)

No energy expenditure takes place in diffusion.
In facilitated diffusion special proteins help to move substances across the membrane

by utilising ATP.
In plants transport of materials over longer distances proceeds through the xylem and

phloem and is called translocation.
Facilitated diffusion is non specific for molecules to be transported.

soTen @155-:5355::: ¥R $085 T8 BoKod.

DH58e (diffusion)es® 45 HADrKo 28K,
JoFss DH8S* (facilitated diffusion) @858 PF&De SogeodH &lo oy

Eoeer Dodadsoes® ATPR QaddrAothivodron., .
Eu.‘:-ﬁbe.;ef‘ g, FAE Sarvo THO SrGIErogTOR ;’:w::;m e @3TR)

2688 (translocation) e0ér.
SoosEs D6 (facilitated transport) e HoHIORS LmHo APJo 57

(non specific).

11T (2) ILIV (3) LI (4) ILIV

LT 25:C
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IS, Study the following and pick up the correet statements
) Amycorrhiza is a symbiotic association of a fungus with a rool systein. .
) The water loss through the leaves of plants in its liquid phase is called guttation.

) Transpiration oceurs mainly through the stomata in the leaves.

-

IV) No energy is required for diffusion.
(1) Tonly (2) landIlonly

(3) LIandilonly (4) LILHIandIV

8ob T8 wgahso B N0% ool MhBodod

D 8B wds 2080, I 35580 SEESS Sowodo.

N & g o sfHe oo A8 |65 Erdost achL o) Dod@rdo (KBAS)
GOt d,

I17) Wﬁtﬁ]gﬂ i‘ma}gﬂrﬁ sHods* ¢od HF oo o 2806008,
IV) d¥6e% 48 wisde S, '

(1) T3rmgd (2) 1308050 I Sr@do
(3) 1, 11508050 11l S @ (4) LILIIS8050 IV
- Appearance of hair on the head of human embryo occurs at this month of pregnancy.
(1) 3“month 2) 5™ month
(3) 7" month (4) 9" month
S5 Domr PSRt 5 Ceo 208 & J0S° @rmo do Jognken TS0 @rS0&i0HE08.
(1) 3% 3o (2) 55 3o
(3) 75 3o 4) 95 3o
126: Pick up the odd one
(1) Mangifera (2) Cycas (3) Pinus (4) Ginkgo
Do G od HYowod L
(1) &rozpor (2) &5 3) 255 @) Aos*

J&f Genotypic ratio of Mendelian Monohybrid cross in F5 generation is
206OTDS JE Do Ho¥broc Fy d8o* 2R0g8d V8.
(1) 3:1 (2) 1: (3) 1:0 (4) 1:2:]

A A 26-C
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122. Statement1: - Insponges, digestion is intracellular and they have canal system.
statement Iz Cnidartans having exoskeleton are able to form islands i sea called coral
reels,

(1) Both statements I and 11 are true.

(2)  Both statements T and 11 are false,

(3)  Statement 1is true, but statement 11 is false.

(4)  Statement s false, but statement 11 is truc.

Tgpg 11 Jozfos Ser0dldd BPiBoh atidiol. G Biergdsis ¢rotaohl.

T§P§ 111 ordng wpbondo ons ddocHB BsNded' bFrel MG EEhvG. FEI
Rad Beres wolrds,

(1) argwgen I, 11 P0EXD.

(2) agwges I, 11 QROGLID 5.

(3) &gwg [ HODSH, 5 gy 11 H66058 .

(4) ogwg [ 50088 5, 52 agwg 11 H0G0EB.

fLEE. Function of synergids is

(1) Nutrition (2) Directing the pollen tube
(3) Formation of endosperm (4) Formation of pollen grains
DTeSE Seorer (synergids) 26
(1) &%eo | (2) dohaedd Srgdy rosdo
(3) woRSHTR) Yo (4) SorfidenHos GBESLo
)»Zﬂ./f he number ‘zero’ was first invented by whom?
(1) Romans (2) Arabs
(3) Indians (4) Greeks
WF) ©oEi Indd EADYS F0?
(1) &S0 (2) wdagyen
(3) erd8asnen (4) Bisoen
)K/Whﬂ is the first martyr of the 1857 Revolt?
(1) Mangal Pandey (2) Bahadur Shahll

(3) Nana Saheb (4) Jhansi Lakshmibai

1857 @&sKremine® &0 @S0G Ja09 rIndd?
(1) SHoHSrod (2) BodS aFErs

(3) oo s (4) &Ry ofpro®

M\III\IINIIII[IIIIJIH\IHIIIIIIIIII!II! 27-C
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. - : B e - ‘.'1
. Inwhich Indus valley site more number of wells were discovered’

(1) Harappa (2) Kalibangan

(3) Lothal (4) Mohanjodaro
D DogrStoh BEASNS' IS Bngost Hus SLFZRASD.
(1) S (2) sOzoiS

(3) s'os (4) 3xTosed

1277 Name the Principal of the Anglo-oriental college, Aligarh, that changed
Sayyad Ahmed Khan towards the Indian National Congress.
(1) Theoder Marison (2) Henry Siddous
(3) Theodore Beck (4) Willizm Archbold
288 28ad soRS 29 26 Jahgl v S Z0d £G5S 585 woi-L8cked
STTo RS D,

(1) 83r4&E 50855 (2) T B85
(3) &&8>rsb BE (4)  d3cho u55'E
A78. Match the following.

a) Lingaraja Temple i) Chola
b)  Vaikunta Perumal Temple 11)) Hoyasala
c) Brihadisvara Temple iii) Gangza
d)  Belur Chennakeshava Temple iv) Pallava
& 808 75D 28Babod.

dHa-1 =5 -1
a) Doz swaho 1) &¢
b) 3SJHod DHErE socho i) ZFchde
c) Rr&Hs socho i) HoA
d) ZBerd BIEES seoaho iv) S

The correct answer s :
JOGHIS SSrgrdSw :
(1) a-i, b-ii, c-1i1, d-iv (2)  a-iii, b-iv, c-i. d-i

(3) a-iv, b-iii, c-ii, d-i (4)  a-iv, b, c-ii. d-iji

RO 28.C
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1247, Maich the following,

[ast-] List=1J
a) LLord Dalhousic i) [Local Scll Covernmeent
b) William Bentinck 1) Pindaris
<) Lord [ lastings i1i)  Thugs
el) Lord Rippon iv) Anncxation of Qudh
< B0 S mStacios.

erdor-] Dol
a) g GSIEFTR i) s SRhbired
b) 2DDolso DodsSE ii) Soobesd
c) erg el iii) aripes
) e S 85N iv) T& esgSoo

The caorrect answer s -
SO0G35 BSro S5

(1) a-iv, b-ii, e-iii, d-i (2)  a-iv, b-iii, c-ii, d-i
(%)  a-i, b-iii, c-iv, d-ii ¢4) a-ii, b-i, c-iii, d-iv
A30. The revolutionary organization *India House” established in LLondon was handed over in
1907 1o
(1) DMahadev Govinda Ranade {2) Gopal Krishna Gokhale
(3) BalaGangadharTilak (4) Vinayak Damodur Savarkar
LosSS Fhodeds D5 Jopl wodois FTR'H 1907 OD0E winhooos?
(1) Somr8s ADod oodd (2) Aroosiy G
(3) =rofomad ok (4) D che orlzad Thdg o
'.],.:H‘f"'Thc Sabarmati Ashram was established by Gandhiji during the period.
(1) A.D. 1906-19207 (2) A.D.1913-1914
(3) A.D.1915-1916 (4) A.D. 1917-1912
mofed Hodil wFSiess ApDodS sTedoo.
(1) (@.% 1906-1907 (2) (L5 1913-1914
(3) (£.4. 1915-1916 (4) (&.4. 1917-1918
- i .ar Vasco da Gama first reached 1o Calicut?
B{E?;Vh::_hn}ftﬁ :gg (2) A.D.1492 (3) A.D.1598 (4) A.D.149]
D ZoSdybods” =t - Ta a5 ESarDm 52ES DoraEs?
(3) (B.¥ 1598 (4) (5.5 1491

(17 (B85 1498 (2) k4. 1492

OO O 0 29-C
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133 The Humer Comminee was sppointed

s W

(1) 1o comtrol extremists nCtivity
(2} Tonepouse with moderates
(3)  Torepon onsah vetvaprehe

(4} Toenguire into the Jalhianwala Bagh Massacre

oLl (e 2L ok Scuinodelss?

(1} wbzrioe copon eltoa ot

(2) Seros Zogbodet:

(3) &y Sepfit~c} 230¢ ek

(4) elal over oot Jodok

Whick text among the § nl.iu;-::ng- ;:mudcmd as Buddha's bwography

(1) Vinava Pitaka (2) Sutta Maka

(%) Abhudhamma Pitaks (4) Buddhachanta

ol =0C O e Lw QLK 204 S0ET clolududiol?

(1) Soc Sed (2) %8 Sof

13} «DCly ek (4) =gdots

Wlm drnr:m ! h *'? Kevolt as I.hc hm war of Indian Indcpcndms.c"

(1)  Gancsh Savarkar (2) Vinayak Damodar Savarkar
(1) Dals Gangadhar Tilak (4) Vallabhbai Patel

1637 ot Ges o es Maod; Soyrliom’ Igoldl 347
(1) ra@s ezt (2) 27aBE o2rcl 39,8
(3) e sl bol {4} Sulpgdl 38S

Which was the ﬂﬁl Htﬂﬂ Mm icin T:lugu !

(1) Raja Hanschandr (2) Bhishma Prangna

(3) Malapilla (4) Raw Bidda

B/ Suce Zurl OB DBy

(M. oo g (2) &5 coy

{Jj .--Fr..n.-i,r H} oy Lq

Ir.- w‘tm b ycar lht Muuun l;q:ur mhwd s :“._.lum,,. demanding l‘nkuun T —
() AD 1u3? 2y AD 19% (3) AD 1940 (4) AD. 1942

o Lol Lud Lalie UL 2UEL ALrob 30y dovdues

& de 1917 (2) v 193 (3) &4 1940 (4) M 1942

e B

T ™
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i

A8 ‘*Th“':‘ wis the first Newspaper in India?
(1) BengalNews  (2)  The Hindy (3) AmritBazar  (4)

GBI NS retms
OB SR0L IOHGE Do

Bengeal Garretlc

) Bom&dngh  (2) 6 trods (3) wisys werl  (4) Bordnald
JA39. In which of the following Congress session Non-Cooperation resolution is passed

(1) Nagpur (2)  Calcutta (3) Vijayawada (4) Amnitsar

ol St O BOfis Shrddodt s Nokds boydo Tobubol.
____”] Tﬁ:':-.i'f*___ (2) Buge (3) :JE:E.»':::T' : (4) wiEid
)441_' Whao among the following was the founder of Indian National Congress?

(1) Bala Gangadhar Tilak (2) William Wedderbum

(3) BruceT, McCully (4) Allan Octavian Hume

5ol S0G° o ¢d ot BOfn ThodsTes?

(1) erolomdd suk T 2) bouws 24665

(3) .. 288 (4) wol wrglchi Sopts

JAT. Match the following incidents with their respective dates.

List-1 List-1

a)  Pnme Minister of India Commissioned INS-VIKRANTon i) 1% July 2022

b)  Ban on identified single use plastic items in India ii) 274 September 2022
came into force from

¢)  The First National Start-up Day in India was celebrated on

d)  Smt. Droupadi Murmu clected as the
] 5th President of India on

G (Bod Hopobitwds TE Bowolodl Bhud' udtichod,

1ii) 215 July 2022
iv) 16* January 2022

erfior-] iia-ll
1) 1 2T 2022

4) 03 Hodtiod INS JEesl sl bols 86
b) roEtidods® Mgotndil wohd it Tns
Stoden Whgo whers's S 8o

— a o ) L
TOEBEoSt TG “rbodh wokil Soge

1) 2 =eond 2022

iii) 21 228 2022

c)
EatG 50" wbhi B8
d) (o @o6 0 w08 155 TELEM et 86 iv) 16 2858 2022
The correct answer 1§ !
SOGS BSIGens ! o
(1) a-i, b-ii, c-ifi, d-1v (2)  a-ii, b, c-iv, d-iii
(3) a-ii, b-iii, c-1V, c-1 f‘f} a-1v, b-1, c-11, d-11i

T
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Choose the correct statements regarding the awards of Swachh Survekshan - ?I‘:E‘? |

a) Indore won the ¢leanest city title for the sixth consecutive year in marc than | lakh
populanon catepon Y. f s

b)  Panchgami won the cleanest city title for the less than | lakh population category

¢)  Tirupat reccived the best city award in Safi Mitra Suraksha calegory.

d)  Rishikesh received the award for the best Ganga town in morc than | lakh population
category.

(1) (a),(b)and (c) only (2) (b).(c)and (d)only

(3) (a).(c)and (d) only (4) (a).(b)and (d)only

) ﬁt‘zsirﬂ-zuzz CTQoR Sowofod SB35 TEglnw Jos¢ dabed.

1) 1 oF £0B 8555 2aer KOS BLALS' Q086 SEHBm 65 0 ©E50d B
Dm0 TUS Awhiod.

b) 1 of 0B 8RS aTer 0AS 3LABS' JodKd edgod J0DHEDS Shos TUES
[ [PV PRS- STSTAY

€) dFon WG WEF BLALS' KD &I Hheo wId Neothsdol.

d) 1 ogEoB I8y S aarer EOAS TNDS* & & Kom Shmo wardd dust Nuodhies,

(1) (a), (b) o805 (c) S (2) (b)), (c) Zo803n (d) Sordo

(3) (), (c) Bo8csn (d) Sm@ (4) (a), (b) 5000t (d) Sov@d

L
‘-'-'L'-HII-I.H-J
. -

- According to the MoU between the Ministry of Agriculture & Farmer’s Welfare Govt. of

India, and United Nation's Development Programme (UNDP) in May 2022, UNDP provides

technical support 1o the following,
a)  PM Kisan Samman Nidhi Yojana (PMKSNY)
b)  Kisan Credit Card - Modified Intcrest Subvention Schéme (KCC - MISS)

¢)  Pradhan Mantri Fasal Bima Yojana (PMFBY)

d)  Pradhan Mantri Krishi Sinchayee Yojana (PMKSY)

(1) (a)and(b)only (2) (b)and(c)only

(3) (c)and(d)only (4) (a)and(d)only

O3 WADEs SgIroH & B HodS DooBcy S08csn DEgorEs SIS wdBG
s*dgEvo (UNDP)S* D 2022¢5° SHALMESE ) RORT ey 2080 580 UNDP &% §od
TVE F0BBE JFfoho eobinod.

a)  PM- &35 D3MS I dras (PMKSNY)

b) &0 BAE 5§ - Ir8 26 ROER IS o (KCC - MISS)

¢) OFdo@ 536 Hir drad (PMFBY)

d)  EEsS0d SR doson dred (PMKSY)

(1) (a) S0csn (b) Sen@d (2)  (b) So8asw0 (¢) Sovgshy

(3) (c) Sobabw (d) Sm@d (4)  (2) 208030 (d) Sovhs

—_— = — ——— T — - ———
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o = m » by | J.-ri—.'l-.'.'i- -
e .—-.:---n{'l'-l‘w "'-'-"'l-'i""' |:_i+ '5' B e S ——
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il A"“"‘""‘F.ﬁf-v-—-- ’

L B — S
-_

ElEmEe b b sl

I ghest mmmber of 2oid
ndiz in the Common VWezlth Games -

# ma il Eil

20122 respecuvely.

i Athlesr - . =
(1) Athletics 1d Juco (2) Athletics 2o Wresthing

o & - '.ih---r--i-‘--—

"'I‘I"r-.r rl - -
ting and Athleric

r -m

:__,_. .......

i 5 s T ——
o —

E (4) Wrestlingand W

o = =l
— - _..H,_F'" [ = iy
D N L, oy == l o » . g . T
20D - 2022 S ngdR s wg-ag feg Lot £ G5 Y Cud BET e TeynlE
- - —r - - - - -
BT e - o
-
—pe L
Gor Gar 8 4 =R e

(1) €225 Zobctss s (2) =5 &tctis TESA
(3) T2oh Zstcis €ZER 4) T2ol Lo8cts Tl
L,::Tm:wmnﬂ-m both the U.S. Open 2nd French Open Women's Tennis singles 275 55902
is
- 1 - - ¥

(1) ElenzRybekina (2)
(3) Ashleigh Barty (4)

2022<° U.S. 2725 So8ctes (ol L1285 Side SDE Boas SES ToADEIMISAS
= —
= -
(1) 28= Tziz (7). =7 ?;.155
(3) sz =% (3) 8 «T

J46.

According to the Economic Survey 2021-22, Indiz’s overzll score on
SDG Indiz Index 2nd Dashbozrd in 2020-21 is

=fs5 sTg 2021-22 e, 2020-21<* 26 =

- — -
Z DL St o letdo h =oogfo 5.5

(1) 64 (3) 66

() 67

i

The Reserve Bankof India published Financial Inclusion Index in August 2022. According
to the report the raise in the value of Financial Inclusion Index Fom March 2021 1o March
2022 1s

(1) 53910 59.3

(3) 53910564

eZs 20228 &géet B2l zzof e S5 08 LoD EEBclel. & § B
g 2598 & Znd Desds' £25 2021 Lol 2% 2022 X TRXZe
(1) 53.9 %s0d 59.3 (2) 36.4%:c3 393
6

9
(3) 53.9 %05 56.

A e
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1487 Expand the IPMDA which was mitiated in the Quad - [.eader’s Summil - 2022, in Tokyo in
May 2022,
(1) Indo-Pacific Partnership for Medical and Drugs Awarencess.
(2) Inclusive Participation in Maritime Domestic Arms.
(3)  Indo-Pacific Partnership for Maritime Domain Awareness.
(4)  Intemational Participation in Maintaining Drug Awarencss. ) 3
B 2022 o L“E‘SC? 20A8 5‘-.55 2o BXirdfo 2022 &° Lﬂ"{fﬂﬁﬂﬂa‘iﬁlﬁ [PMIDDAS:
Jobodod,
(1) R0&-J00E P60 36 DAEES wob ¥H eB6IT.
(2) 208z05 FEHDLS al S-oBSH EDRE w6
5 FEI6RD H6 5,885 &S «36IN.
(4) 20LTIASS FERDHAES 25 BonSBondoh |EA LS639.

i |

I:ﬁ, The first woman appointed as the Director General of the Council of Scientific and Industrial

Rescarch,

(1) Jyotirmayee Dash - (2) NeenaGupta

(3) Chandrima Saha (4) Nallathamby Kalaiselvi

NS B PoBIHE b ROERHS 6168 B6E6 23505 VoHEBS Bo0died Sotry
(1) #58600 =6 2) S K2

(3) Sodsr g (4) Sesod &8

1507 Choose the incorrect statements regarding the field of education and skill development in
Union Budget - 2022-23.
(1) Oneclass - One TV channel programme of PM e VIDYA will be expanded from 12 to
100 TV channels, :
(2) Startups will be promoted to facilitate Drone Shakti for Drone-As-A-Service.

(3) Establishment Digital University to provide universal education.

(4) Launch of DESH-Stack e-portal : A Digital Ecosystem for skillin £ and livelihood.

S0l 2@l 2022-23s° Qg DB S BI0DJos Somrs Rowofod) HosY T g0

Jos8 daosnsn.

(1) PM eVIDYA 565508 o8 $658 - o¥ 8.9 sOgEo0 12 .5, TIS) Hod
100 8.9, oSS 56052808, ‘

(2) (E'5-22-0-B055 5650 (&5 980 Dooddso Soshdo S50 TEB0B F&rosso.

(3) Pdodiron 6y vobosdo %o Azdyd QAT gocho :JU‘JE;:.J.

(4) DESIH-Stack e-portal: J &266 8005 26 S Q0f wob ST AT Wrlododao.

[

W
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151, Anubhuti” - the QR code-based feedback system launched in February 2022 was aimed to
" (1) Address the problems of the female artists of film industry in Mumbai.
(2)  Analyse the requirements of the students of Class X in Mumbai.
(3)  Ensure the safety and scecurity of the people with maximum use of technology in
Delin,
(4)  Address the problems of female workers in Delhi.
VB0, 2022 &* @Fodosndd QR §'6 esood 2Gargl BYD -wdgrd” S
tbf‘.é-;fa.‘.im.
(1) S00BG'D B0 WERHSY e Eesdho dRkgo HoE do.
(2) S200BS'D BES S8 dorgho widook dihodbe.
(3) &o¢* B5odd vdgbsomr IABrHod Hao G DB HEdok F6r adcdo.
2
(4) &os'R Hre 00 dddge B0 do.
152. Choose the correct sentences from the following.

a)  Onthe occasion of world Bio-fuel Day, Prime Minister Shri Narendra Modi dedicated
the 2™ Generation (2G) Ethanol plant in Panipat, Haryana to the nation.

b)  The2G Ethanol plant has been built by Oil and Natural Gas Corporation (ONGC) at
an estimated cost of over Rs. 1000 crores.

¢)  The project will have zero liquid discharge.

(1) (a)and (b)only (2) (a)and(c)only

(3) (b)and(c)only (4) (a),(b)and (c)

$ob T8S" S0d Tsgoud JoEod.

2 oo £35 Rogd BS'G)So Joddor, WErIHod 8 S0 EI3rs TOgTS'
IRBGS' 25 d6o (26) adTd FolSd 285 woldo B,

b) 2G adad Folids sond wob I0dS mse 5640A8 (2.98.2.9) &=, 1000 8%
Duds coda Sgodod’ B oRok.

¢) 1B f:e.'i* S E) 85 a&d Golnob.

(1) (a) Zc0cko (b) Sr@d (2) (a) Ho00dn0 (c) Sevgd
(3) (b) So8ct0 (c) SmgD (4) (a), (b) Sob8csw (c)
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JA3 Accordmg o the Global Gender Gap Report 2022, the India’s rank is

1 wif ¥ - L il » = "
e Bodd e 306 2022 GBrrdo nobals Gty Grpobs.

(1) 125 (2) 135 (3) 145 (4) 115
154 Match the following Raman Magsaysay Award 2022 winners with their countrics,

List-] List-11

a)  Chhim Sotheara i) Japan

b)  Hanori Tadashi 1) Indonesia

¢)  Madrid Bemadete, J. 11)  Cambodia

d)  Benchephib Gary 1v)  Philippines

G holy oodoh R wirdy 2022 JAdod 70 Brod 20556506,
erfaor-| rdor-l

1) D Ao 1) 223

b) &0 dorn i) =@o&Fncsr

¢) SeGé B6aEy. @ iil) s*of*&air

d) ZoBnL mb V) 20hS)

The correct answer is ¢

ﬁ&g‘_a:u;& TS5y

(1) a-i, b-i, c-iv, d-ii (2) a-iv, b-iii, c-i, d-ii
(3) a-iii, b-iv, c-ii, d-i (4) a-ii, b-i, c-iil, d-iv

155. The Nobel Prize-2022 winners in Chemistry are
(1) K. Barry Sharpless, Alain Aspect and Svante Paabo
(2) CarolynR. Bertozzi, Morten Meldal and K. Barry Sharpless
(3) Morten Mecldal, Anton Zeilinger and John. E. Clauser
(4) Carolync R. Bertozzi, Svante Paabo and Anton Zeilinger

BRSS! Fad (24-2022 (irdw

(1) K. 2rb 35BS, 085 eink 5008w JcoB Jred’

(2) €605 R. BEE, Arghs Begs H00% K. 2rb 2635
(3) @085 Dend, wobws 20l DO 28, F. 526
(4) BGOSR, 862, 3508 & H0dn sobd 200K

VMG 360
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Choose the incorreet statements tegarding GSAT-24 satellite,

Y lul"]{“m“""“““‘r lannched GSAT-24 satellite from Kourown rench Guiana in June
2022

b) W eht ol GSAT- RO RTS 3180 kg,

; o o .
LI] GSAT-24is 2 24-Ku band communication satellite.
d)  The satellite was successfully placed into geostationary orbit by the Artanc - |V rockel.

GSAT-24 4333408 Howmodod D05 argpged Johsod.

) ISRO 28 20225 (20 Holrara'd T8 S008 GSAT-24 @ity duckdodon
Walrfodod.

b)  GSAT-24 DY 3180 §ten

¢)  GSAT-24 38 24-Ku wrgod *‘é:&ws;}au S adyidro.

d)  D0aHS- 1V ooaes D5 U RS S5t duahBodon oI,

(1) @& () (2) (b) & (c) (3) () & (d) (4) (b)&(d)

1,5‘?’.

In August 2022 Modern cquipment was supplied to Indian Army. Nipun is one of them. Itisa

(1) lightweight helicopter (2) missile that reaches exact target
(3) anti-personnel mine (4) thermal imager
0S8 PS50 ey 20226* @oBodS sHTES FHPS® AP Sra bod. 18 ol
(L) SOE>E OSHS (2) »QSDS oy W9 1RYE
(3) oIrol HHIS DS 4) &S adons
Match the Military/Naval excreises with their participating countrics.

List-I List-I1 -
a) SAREX-2022 i)  India-US joint military exercise
b)  Dharma Guardian-2022 1)  Indian coast guard exercise
c) Varuna-2022 it)  India-Japan Joint Military excrcise
d) VAJRA PRAHAR-2022 iv)  India-France Naval exercise
808 oLd/Td dTErod FEE) FTed 385508,

2 DHae-] dar-11
a) 0§ - 2022 1) @obdair-US w30)d Medd DTG0
b) &5 QoS - 2022 1)  Rodche 85 88w B0 dargAren
c) S - 2022 1) Qobdadr-ad>rs 0% Dobd dTgdo
d) S pos - 2022 V) RoBoSr-FR) TRO dargdo
The correct answer is :
DOGN JIFERI0 ! .
{1) a-ii, b-iii, c-iv, d-1 | (2) a-iii, b-ii, c-iv, d-i

{3} a-ii. b-iii, c-i, d-1v (4) a-u1, b-i, ¢-ii, d-iv
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59. Choose the countries that joined the steering board of First Movers Coalition led by WEF
and US Government in May 2022.
(I} Japan. Sweden and Genmany (2) India, Germany and Sweden
(3) Japan, Genmany and India (4) India, Japan and Sweden

= 2022 &' WEF S08csn US 50850 Tch¥dto Sirod 3§ Sor56) Fondis @y,
=O00h S'G¢* 385 dren.

&
Ll
=

(1) 228, o@8 S:605n 260 (2) =0&dir, 26)N S06cid 58S
- = L]
(3) =aa, 28)d ook nodolir (4) =obosr, s Sobdlw E‘EEEE

}6&:’%5 on August 13, 2022 India adds 11 more wetlands to the list of Ramsar Sites. Choose the
correct statement from the following regarding the number of new sites added from the
respective States.

(1) Tamil Nadu-2, Odisha-3, Jammu & Kashmir-4, Madhya Pradesh-1, Maharashtra-1
(2) Tamil Nadu-3, Odisha-4, Jammu & Kashmir-2, Madhya Pradesh-1, Maharashtra-1
(3) Tamil Nadu-4, Odisha-3, Jammu & Kashmir-1 , Madhya Pradesh-2, Maharashtra-1
(4) Tamil Nadu-4, Odisha-3, Jammu & Kashmir-2, Madhya Pradesh-1, Maharashtra-1

vy 13,20228 zdsdio 11 w65d 00 JooH rHv6 Gére wdos® D000, B>
e L0 BIm Qob¥ Bhd oo Jopgd So00od JBS FSrEo JohE Tobod.
(1) Se5&:-2, 283-3, 20 & 5°8)6-4, SosgHas-1, SoStor@-1

(2) Sdovariia-3, 2.bar-4, 200y & 579)6-2, SoggHas-1, SoFrorG-1

(3) Sxéado-4, .b3r-3, 2800y & 572)5-1, S5 HaE-2, SoFo@-

(4) edado-4, n&3-3, 2800y & 579)6-2, HEHHBTE-1, Sodtor -1

}61. On25® thmary 2022 The Secretary General of the United Nations appointed the following
as the Assistant Secretary General to serve as United Nations Crisis Coordinator for Ukraine.
(1) Michelle Bachelet
(2) AminAwad
(3) Frederic Leclerc - Imhoff
(4) Wainmu Nderitu
<t 25, 20225 =ggoray S8 DELE 2568 & 508 T8 GEonSH 2ETRg DS
Q5% ﬁ&ﬁ:&cﬁ:égm ST LB EEJ"{&GES DELY 2585 dchoTd.

(1) ad «8eds

(2) «dsh 56

(3) w4tk TEel-asd s
(4) =l Zoas

IEACT R EErR  sc
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The theme for World Maritime Day-2022 is

E;; g mpﬂ,wcﬁﬂg women in the maritime community
: Sustamablc shipping for a sustainable planct
(3) Seafarers : At the core of shipping’s future

(4) New techniologies for grecner shipping

2022 S8G 57085 @ Glog) 285do

(1) 055808 HF a5 & 5635, 50758
{2_) ﬁ"ﬂmﬁ’amﬁ fhﬁagnﬁ D6 o ﬁ‘“::ro:u::éauﬁ T8
(3) 5386 I5 & §6 ws ﬂqﬁa;\n% 4rg6 )
(4) So>g B50Ed 5 (56 2ayof

163. “Progress towards an equitable world” is the goal of the following summit held in 2022.

(1) G20 Summit (2) G7Summit

(3) BRICS Summit (4) 1202 Summit

"IErSDS Bhoso 3D HEKB” 20225 2BAS & Bod T HSrIY ©F0.
(1) G20 6% 2) G765 |
(3) ©F S8y (4) 12U2 3658

Ho4.

Match the following persons with their respective positions/designations as on October
2022.

a) IMF - Executive Director i}  Sanjay Kishan Kaul
b) DRDO Chairman i)  Krishnamurty Subrahmanyan
¢c) Supreme Court legal services iii) SameerV. Kamath

committee chairman
d) Scientific Advisor to Minister of Defence iv) G Satish Reddy
& 150b ﬁgéguﬁa 2022 @%uﬁ_ J°¢38 o8 %mﬂﬂ"!;’:‘i‘ﬁ‘ﬂé‘ 2aDc08.

Hae-l Dar-1l
) 2.0899. - §Ergts gogd ) Dozdd 8§48 TS
b) &.s68.5. 3O i) &N Sord Dpd0gs
) HodoFd ImgoP dbgdoe i) [ I. S
Ehodd wigBoddd |
d) &8 08 FRoDH JOTT iv) = J8% 38

The correct answer 1S
ﬁ&@:ﬁ HETT O .

(1) a-i, b-iii, c-11, da*.w
(3) a-iii, b-ii, c-1, d-1V

(2) a-ii, b-iii, c-iv, d-i
(4) a-11, b-iii, ¢-i, d-iv

T R
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r_]ﬁﬁ. Match the following books with the authors.
-List-1 (Books) List-1I (Authors)

@ " Intree'Fall : My Experiments with Living i)  BimalJalan

9, India’s:Etonomy from Nehru to Modi : ii) Mallika Sarabhai
_ ABrielHistory
¢)  From Dependence to Self Reliance iii) Sahil Seth
dJI A Confused Mind Story _iv)  Pulapre Balakrishnan
o8 adndd YIsodH Sondes 288cHos,
dher-] (Hdsen) erdar-1] (FSonden)
Q) A PS: D IGO0 I8 990k ) A0S zeorS
b) @08 ITEH HS JPv o 3 i)  S08s* Foerad
o) (DD EPQ&
C) BD &»odY) Lo WG dboohy) . i) S D6
d) QS8 oo 6 v) Yo wroBle

The correct answer is -
PBGILN JJrErdhn

(L) a-ii, b-iv, c-i, d-iii (2) a-ii, b-iii, c-i, d-iv

(3) a-iii, b-ii, -1, d-iv (4) a-i, b-iv, c-ii, d-iii
)6‘6.’—Which of the following longitude is called as international date line?

(1) 150°E (2) 160° W (3) 180° (4) 0°

& 1808 Q Dgrodsnd vodT 8o B5dmr DenFEH?

(1) 150° &» (2) 160°% (3) 180° (4) 0°
l (6’:'f Which State of India occupies first position in Jowar production?

(1) Andhra Pradesh (2) Maharashtra

(3) Telangana (4) Kamataka

TESD %0t D oZo & %hob & E\BS® JnsE é);aﬁn SED0DSE?

(1) wogEas (2) S0y

(3) Seomres (4) gU:léJg

Ao 10.C
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1?(( NMateh the followine,
List-11

List-1

1) ‘f“mﬂi_l | i)  Bapatla
b) ﬁ-‘hlllgumpudi i1)  Ncllore
¢)  Suryalanka | iii) Visakhapatnam
d)  Mypadu iv) Krishna
& (Sod 59 2SW00s,
de-| arDar-11
b) Soohdyrad i) [
¢) Qordgwos i) QepdLy0
d) oo iv) &
The correct answer is :
200N DIrFSsn
(1) ﬂ-@t b-ii, c-iii, d-iv (2) a-iv, b-iii, ¢-ii, d-I
(3) a-u,b-i, c-lv, d-iii (4) a-iii, b-iv, c-1, d-11
1697 Which of the following Rock is not a Igneous Rock?
(1) Granite (2) Basalt (3) Quartzite (4) Pegmatite
& 1808 TES® A8 vh) Fooh HowododEs $E?
(1) o (2) @@ (3) suges (4) DHSrBE
/W(f Which of the following is not a tributary of the river Bramhaputra?
(1) Teesta (2) Manas (3) Lun (4) Dihong
& 1808 T8S' 0 PIPIE D GHIH 5E?
(1) &3 (2) H0°d9 (3) ord (4) B&Ioh

V1. Average monthly valucs of maximum temperature, minimum temperature and rainfall for a

place can be represented by
(1) Climograph (2) Thematicmap (3) Climatemap (4) Histogram

¥ Fodo B0Y), ©dghE YIS vdgey GRHE S0 IEFES0 BEG)oS FESo

(1) 33mrS (2) Issg do  (3) ISERB dbo  (4) RS
172" The shape of the Earth’s orbit is

(1) A circular path (2) Anclongated oval path

(3) A scaled oval path (4) A definite path

ArEgy TS wyB

(1) Syess 855 (2) 8¢ Symss 8gg

(3) SoBo 5% 8 &) HTSS 8L (4) 2SS 88g

R
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173. The moist deciduous forests located in North Eastern Andhra Pradesh prove m the following
range of rainfall.

(1) 100-200 cm (2) <75cm

(3) >250cm (4) 50-75 em

GTEF BOGHBIS HT) g woLy BEHL: Bod B D GG HOLG: TGO,
(1 2. 100-200 0.20. : (2) <75%0..
,(3) > 250 %020 (4) 50-75 0.8, S

&74y Choose the incorrect statement.
" (1) Indiais the largest producer of raw jute and jute goods in the world.
(2) India stands first in the world in sugar production,
(3) Indiastands first in the world in jaggery production.
(4) India stands ninth in the world in crude steel production.
Bo& T&es* J05D T5gR) hBodod.
(1) =3526, 25576 SNIJv GAHIS Pdoded* EETrIn Tl EREL
(2) @Bdodeds® Sodod GRS P EETTAE o i,
(3) Bdodes Beoc EANAS IESTAE IS Zs0.
(4), SZoSods® Snd &y GGG PUEaTIE G065 Sio.

[+

1757 The Periyar Tiger Reserve is located in

(1) Tamil Nadu (2) Kamataka (3) Goa (4) Kcrala
2BaSrS Yene SodEm Sowo &K (Fodo
(1) dxndad (2) sobg (3) Ao (4) Ho¢

J76. Clause 2 of Article 13 in Indian Constitution is not applicable to
(1) Law made by the Parliament
(2) Ordinance issued by the President of India
(3) Constitutional amendment made under Article 368
(4) A decision taken by Union Cabinet
68 Trargofdns'd 135 (B560dnst Ko 235 Ser B8 SBowds.
(1) Zgotn Er2roBodS Sk
(2) =88 oB36 =6 B8 BB
(3) 3682 DE63nd wibed &rdoBodnds Crerzofl R3¢0
(4) SoE T3DIE E%o®) ko

TR .
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ng is not correct with regard to Fundamental Dutics in the Incian

Which of the followi
Constitution?

(é:]l ::'_Undamcntai Dutics arc applicable only to citizens of India.
( undamental Duties cannot be enforced by writs.

(i] E‘Ilﬂ rFuI‘Idaﬁm:nl:eli Dutics are incorporated by 427 Constitutional Amendment ACL
(4)  _cventh Fundamental Duty was added by 87" Constitutional Amendment Act.
88 Targolodt He FENE Do Sonobod HESUE?

(1) EENE e el Irdiets 5:-@33 SBaro.

(2) 080 B0 |PEDE Do BXes 4ESS 5,

(3) 425 Tergol D36 56 |FB0E ddod FokBENsE.

(4) 875 oargor 9560 B80S 608 DB FodBEREs.

178

Which of the fol lowing is not correct with regard to Vice President of India?
(1) Hedraws his salary as Chair Person of Rajya Sabha.

(2) His salary is paid from Public Account of india.
(3) His tenure is five years.

(4) Heis clected by Members of Parliament.

Faple 1] &éﬁ'@ﬁﬂg Qoofod) HETH?

(1) oregdsd vdghd Fos® wsns 288850 ©PLI0B.
() @8 L85850 268 HYE wTobn S08 BYTE.
(3) ©&d 38I5°wo 5 BoSBen.

(4) ©8 FEDooln dhge DY INEHEG.

8

The Directive Principle in Article 43B relating to co-operative societies was incorporated
by this Constitutional Amendment Act

(1) 91* Constitutional AmendmentAct  (2) 93" Constitutional Amendment Act
(3) 95" Constitutional AmendmentAct  (4) 97" Constitutional Amendment Act
43B 1H86e0506" o H5 8 Hodred 302080085 BEF Sr@S0nd Sokigns gl
3568 &350

(1) 915 orergonl 3580 S&IW (2) 933 oergolf S8 S

L

1867 Which of the following is not correct?

(1) Rajya Sabha provides representation to States.

(2) Deputy Chair Person of Rajya Sabha is elected by the members of Rajya Sabha.
(3) There is no reservation of seats for Scheduled Castes in Rajya Sabha.

(4) The normal life of Rajya Sabha 1s six years.

Bod TRS® Jo56?

(1) oragdes c'f".‘ge.:néa F8Asgo D08,

(2) orzgod &g BEIGSH Tragdy debges ILKotrh.
(3)y CrglEes® drgg Souro T8 HEw dzdy Dohadds.
(4) oragded ol srodgdd v Jodd)oren.

L 5
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From the following identifv the State which has higher representation in Rajya Sabha
(4) Andhra Pradesh

(1) Gujara (2)  Kamataka (3) Odisha
§os s TFRIS I8 3 EETGY) $OADH oRS0 HaBoeixs.
(1) =8 (2) Sow (3) zax (4) wsogHads

I" o] - -|. ey
U82. Lord Rippon’s famous resolution on Local Self Government was passed on

(1) 187 Mav, 1882 (2) 215 May, 1882

(3) 11¥ May, 1882 (4) 9™ May, 1882

N8 S8E&ed BageD 8 53R DS PHSow é:r-ééa s3rBodwbs 88
(1) 183, 1882 (2) 21 %, 1882

(3) 113, 1882 (4) 93, 1882

_},S’Ef".ﬁﬂ:ha}’ats at the Intermediate Lev

el may not be constituted in a State having a population
not exceeding

“J 20 lakhs (2) 30 lakhs (3) 40 lakhs (4) 25 lakhs
BoZ &8 8) BT BBED Dodd o7 gS0es” NEY Fond® Jomanded Aoy
ewtont mSXS0 S

(1) 20 efes (2) 30 ofe (3) 40 efen (4) 25 ofen

1»<7 The word ‘Cabinet’ is incorporated in the Indian Constitution by this Constitutional

Amendment Act
(1) -2“"" Cunsnrutmnalﬁm:ndmentﬁct (2) 24" Constitutional Amendment Act

(3) 44" Constitutional AmendmentAct (4) 45 Constitutional Amendment Act
=08 Temgolios” ‘w503 ¥ D650 FohHEDS oramgoll S8 Sé%m

{1.. 4258 crgof $58e S48 (2) 243 oreErgoll S8 NS
(3) 443 =gl 556 a0 (4) 455 oremgor 958 25¢3500

157 The Judges of International Court of Justice are appointed by

(1) Secretary General of UNO

(2) Security Council
(3) General Assembly
( 4} General Assembly and Security Council

Codgich TyobgsiossHh FyeniroH S QoD s,
(1) =goag & f'j @Fs 50g0)
(2) ZEe Hobd
f3; ﬁdj;&a:-'g BoI8 S
cOTRey (B0A8 B S0 HEor Sod

il ﬂ| HHH JHHI [T 4.
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IE;-/A representative elected by the people can be removed by adopting this method in Direct

Democracy.

(1) Referendum (2) Recall

(3) Plebiscite (4) Initiative

B0B BEgE Serdrgiog $68 mor Pao 38 IIBS HOIG FoROBHEY
(1) @=d@and D850 (2) DSBS

(3) 20 (4) D368

ﬁ?* NO’I‘& (ane of the above) option in Electronic Voting Machines was introduced for the
first time in the elections to State Legislative Assemblies held in the year.

JOGIS LB0A BASS' ‘S (b 3D £) ©f) oPER IGINEE oM §od
noS&Bost 2BAS ml‘.;'} TS de IYFost BT e,
(1) 2012 (2) 2010 ° (3) 2013 (4) 2015

188Open Ballot System is adopted in this election of our country.
(1) Election of Members to Rajya Sabha
(2) Election of Members to State Legislative Assembly
(3) Election of Members to Nagara Panchayat
(4) "Open Bailat‘S}rstem is not adopted in any election of our country .
Ho5BF0S* (§od INES* wirdor LBoA IFIHin wivodoBwidod.
(1) ozgddih Shgo IS
(2) oF s ba vge Y
(3) K8 BomrahEse vabge IS
(4) H358F0S* J INES K ol LR ITSo vSwodod &S

_ “Elephant” is the election symbol of this political party in Assam.
(1) Asom Gana Parishad (2) Bodo Land People’s Front
(3) All India United Democratic Front - (4) * Janata Dal (United)
samos® 808 Trabch I8 s HE "%
(1) ©yo e D8RS (2) =& ergod E:-‘{ge% Dot
(3) ©& modosr o086 AArE s ol (4) =8e &F (50IBE)

—

}Qﬂf/:l“ he following language is not found in the 8" Schedule of Indian Constitution
(1) Sindhi - (2) Urdu (3) Dogri (4) Gondi
88 orargorfod’ 83 drgens” ©Hdosd oy |
(1) 208 (2) o83 (3) &'n (4) Aod

A 45.C
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|?:'~. :n[?‘llu:h year the new industrial policy announced the abolisation of industrial licensing in
1!

IETHOS" O BoSG)80s” BEG0DS FOFDE Ty BVOD FOFE BHYoh
JTRO S Sohndoh?
(1) 1948 (2) 195] (3) 1956 (4) 1991

196. Which of the following activ
Fd

Ity 1s not a part of service sector?

(1) Fish farming (2) Warchousing of fish
(3) Transportation of fish (4) Sale of fish
Sod T8S* Dadokos® ariko p T tals
(1) =de oddo (2) Bden Vex Voo
(3) Bde Saer (r-_%) dde eiso

197 According to .M. Keynes, what is the main cause of unemployment in developed countries?
(1) High Population (2) Introduced Automation
(3) Loweffective demand (4) Low quality of Education
£D5)Y Dods Breodst ARDE'TIE (HES s*6eomr LM, §5) GBI o) T0?
(1) =88 zar (2) cSrofsdnd BaTYH 0
(3) g8 dirody &% (4) Iy Tegdst o

y&’ As per 2011 census which one of the following districts in Andhra Pradesh (after bifurcation
- 2014) has the highest sex ratio?

(1) Vijayanagaram (2) Srikakulam (3) Krishna (4) Visakhapatnam
2011 =y BHo $H08000 woPRHDTS* (s wloddo 2014) Q zors® H-HHOA
ﬁﬁ&% Hégﬂé Q8 S God?

(1) D=chdKdo (2) &sSovo (3) & 4 ;J-'a"‘.q)ﬁéac
199. Who established the EX-IM Bank? .

(1) The Government of India . (2) TheReserve Bank of India

(3) The World Bank . (4) ThelMF

255 (EX-IM) argosody 238 Fhomd?

(1) 288 Behéso (2) 028 ergosd uH Rodosr

(3) Boxs wrgodo (4) IMF

2007 TRIMs and TRIPs agreements are related to which of the following International
Organisation?
353 (TRIMs) 06050 839) (TRIPs) @508 & fod a2e® 2 sodgdoh SEESES
moobodS hfﬁjﬂﬂ“ﬁ.ﬂ? ‘
(1) WTO. (2) LBRD. (3) ILO. (4) LMFE

Oo0oaoa

A 41-C
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